
www.world.corally.com www.support.corally.com www.dealers.corally.com

BH M3x12 BH M3x12 
C-3003-30-12C-3003-30-12

BH M3x12 BH M3x12 
C-3003-30-12C-3003-30-12

BH M3x12 BH M3x12 
C-3003-30-12C-3003-30-12

BH M3x12 BH M3x12 
C-3003-30-12C-3003-30-12

BH M4x25 BH M4x25 
C-3003-40-25C-3003-40-25

BH M4x25 BH M4x25 
C-3003-40-25C-3003-40-25

SH M3x18 SH M3x18 
C-3001-30-18C-3001-30-18

SH M3x18 SH M3x18 
C-3001-30-18C-3001-30-18

C-00180-951 (set)C-00180-951 (set)

C-00180-959 (set)C-00180-959 (set)
C-00180-959 (set)C-00180-959 (set)

C-00180-953 (set) C-00180-953 (set) 
- shorter one -- shorter one -

C-00180-953 (set)C-00180-953 (set)
- longer one -- longer one -

C-00180- 951 (set)C-00180- 951 (set)

FRONT REAR

STEP 4STEP 3

STEP 1 STEP 2

FRONT REAR

- 2.0 Hex Driver

- 2.5 Hex Driver

Required Tools:

TUBE BRACES


